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Explain any three uses of time senesanalysis

Table 1 shows the production of & certum commodity in thousands for différent years.

(6 marks)

Table |
Year 20000 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008
Production in ‘000" | 360 | 370 | 380 | 402 | 420 | 3%0 | 386 | 470

{1) Calculate the three year moving averages for the data

(1)  Plot a tme series praph for the data indicating the frend hne

{14 marks)

(8 marks)

[ F2 marks)

Explin the following terms:
(1) Sampling frame
() Quota samplmg
() Qualitative data
“{iv)  Oueshonnare
Table 2 shows the expenditure of a certg%:nih' during the years 2010 and 2011
C
Table 2 o
ttem X2010 2011
F‘nﬁﬁ} Quantity (kg) | Price (Shs) | Quanity (Kg)
Rice &30 1000 34 1400
| Suigar 58 3 T2 280}
Polatoes 8 160 g2 200
Gread 62 80 TR 60
Beans 7 100 o i)
fan- %, P P s
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(i) [aspeyres price index:
(1)  Pansche's price index
{ii) ~ Fisher's ideal price ndex
{rv)  Marshall-Edgeworth pnce index
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<8 fa)  State the importance of & Lorenz curve. {2 marks)

ib)  Listany three mitations of using a pie-chart to present data. (3 marks)
(¢} The following data shows the values of imports and exports of a certamn country for a
thres year period
Year Quarter  Exports  lmports
Shs *hilhon® Shs *billion”
2003 | 1.9 78
2 1.5 58
A L6 T2
4 13 52
£ 2004 1 1.5 4.6
< 13 3.0
3 e A6
4 14 12
2005 1 L& 24
2 1.7 oA
3 2 2.5
4 <§> 13 3.6

{1 Construet Lorenz curv@ the above data

(i)  Commenton !heéée n-.l‘lh# graph obtaned in (i), - :
{15 marks

4 ()  Explain five advantages of quality control to an industry {10 marks)
(b}  Ten castings were inspected for defects. The following data indicates the number of
defects found on the n:l..ﬂ.tlngs
| 2 3 0 ¥ = r B f '
4 ), 586, 3,0,4,7
(1) Drraw a C-chart for the number of defectives.

(n)  Comment on whether the process is under control or not

{10 marks)
el T
- 2
el 3; ‘{Lr
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Table 4 shows the incomes eamed by some employees in a eertaimn company,

Table 4
Incomies in Shs 000 Numbér of employees
- 10 B
140 - 20 26
20 - 30 ol
30 -40 100
40 -50 42
S0 -60 3l
601 - 703 19
T - 80 10
BO - 90 ]
(1) Draw a histogram for the frequency distnbution.
(i} Estumate the modal monthly meome from the histogram.
() State any three imitations of mode.
(14 marks)
(i)  Distribute between Terms n-f'T(ir;égnd Balance of Trade
(i) Explain any four causes @E‘mmﬁic terms of trade as realised by
developing countries.
23}
(i1} State any two finﬁm of under population m & country
(12 marks)

A machine fills packets with tea leaves which are supposed to have & mean weight of 40
grams, A random-sample of 36 packets 15 taken and a mean weight 1s found to

be 42.4 grams with a standard deviation of 6 grams.

Test at 3% level of migmibicance whether the sample comes from a population with mean
weight of 40 grams.

{8 marks)

5 Turn over




Partial arcas under the
standardised normal curve

‘ 1
. B, Q ] 2 : | [} 5 ] 1 3 ]
o
0.0 0.0000 | 0.0040 |0.0080 | 0,0170] 0.0159 | 0.0199 | 0.0239] 0.0279 | 0.0319 | 0.0359
0.1 ‘0,0198 | 0.0438 |0.0478 {00517 ] 0.0557 | 0.0536 | 0.06346)| 0.0678 | 0.0714 | 0.0753
0.2 00793 | 0.0832 |0.0871 |0.0910] 0.0948 | 0.0987 (L1026 0.1064 | 0.1103 | @ l14]
0.3 0.1173] 01217 [0.1255 [0.1293] 0.1331 | 0.1388 | 01406 0.1443 | 0.14%0 | 0.1317
04 0.1554 | 0.1891 |0,1628 |0.1664 | 0.1700 | 0.1736 | 0.1772| 0.1808 | 0.1844 | 0.1879
05 01918 | 0.1950 |0.1985 |0.2019| 0.2054 | 0.2086 | 0.2123| 0.2157 | 0.2150 | 0.2224
0.6 02257 03791 |0.2374 |0.2357 | 02389 ) 0.2422 | 0.2454 | 02486 | 0.2517.) 0.2549
0.1 02580| 0.2611 0. 7642 | 002673 | 0.2704 | 0.2734 |02760] 0.2754 | 02823 | 0.2852
0.8 02881 | 0.2910 |0.2939 o797 | 0.2995 | 0.3023 | 0.3081) 0.3078 | 0.3106 | 0.3133
0.3 1 03159 0.3186 [0.3212 |0.3238| 0.3264 [ 0.3289 | 0.3213| 0.3340 | 0.3365 | 0.3389
1.0 03413 ] 03438 |0.3481 {03488 | 03508 | 0.3321 [0.3554) 0.3577 | 0.3599 | 03621
L1 03641 | 0.3665 |0.3686 |0.3708 | 0.3729 | ©.3749 | 0.3770] 0.3790 | 0,.3810 { 0.3830
1.2 DAE4S | 2863 oLaasg 03307 ] 04925 &HH 03382 0.3980 | 035997 | 04015
1.3 04032 04049 | 04068 |04082] 0.4099 004115 [0.4131 ) D147 | D41E2 | 04177
1.4 04192 0.4207 |04272 {04236 0.4 04265 [0.4275| 047197 | 04306 | 418
SR S
15 Le33z| 04345 | 04357 ~n.gm»u,{ 04354 [0.4406] D.4418 | 0.4430 | 04441
1.8 0.4451| 04483 |084Te {10 049s | 04508 [o.4515] 0.4525 | 0.4538 | 04348
1.1 0.4554 | 0.4564 (04573 0.4591 [ 04299 | 04608| 0.0516 | 0.4525 | 0.4633
1.8 O4e4)| 04649 (04656 | O BABTL [ 0. 367810456851 04693 | LIGHT | 04706
13 04713| 0.4719 |04726.{0. OATIS | CL4T44 |0eT50] 04758 | 04762 [ L4767
2.0 04772| 04778 |0.4783 [ 04785 ] 0.47393 | 04798 |0.4803| 0.4808 | 04812 | 04817
21 04871 | 04828 | 04530 | 04834 | 04BIE10. 4842 04846 | 04ASH | 04534 | 0.4887
21 0.48681 | 04864 | 04868 {04571 | 0.4875 | 04878 | 0.4381| 0.4884 | 04882 04230
213 0.4891| 0.4856 |0.4898 | 0.4901 | 0.4904 | 0.4906 | 0.4909| 0.4911 | 04513 | 04918
2.4 0.4918{ 0.4920 |0.4923 | 0.4925( 0.4927| 0.4929 0.4971] 0.4932 | D.4934 | 0L4838
25 0.4938| 0.4940 [04941 [ 04943 | DL4T45 | 04348 | 0.4540| 04949 | 0.4951 | 04952
26 04953 0.4355 | 04956 [0.4957| 4359 1 0.4960 | 0.4961| 0.4962 | 0.4963 | 0.4964
1 0.4965] 0.4966 |0.4967 | 0.4968] 0.4969 | 04970 | 0.4971] 04972 | 0.4973 | 494
18 0.4974] 0.4975 104978 | 0ASTT] 04977 | 04978 | 0.4979| 04980 | 0.4980 | 0.4901
19 04581} 04982 |0.4582 | QL4383 Q4984 | 04984 | 0.4905] 04008 | 04926 | L4988
10 Q4987 0.4987 |0.4987 |0.4988] 04988 | 0.4989 | 0.4359| 0.4389 | 0.4990 | 0.45%0
11 0.49%0| 04991 [0.4991 [0.4991| 0.4993 | 0.4992 | 0.4997) 0.4992 | L4793 | L4993
L& 04993 04993 | 04504 04T | 04954 | B4 u.m 0.4395 | 04995 | 04353
1 G4935] 04998 | 04995 |0.AT9 | Q49538 | 04995 | 0, 04534 | 04738 | 04997
14 G497 4937 | 04997 [GAS97) 04957 | AT | G497 0497 | 0L4537 | Q4598
r
15 0.4998] 04998 04998 | 04998 Q4998 ] 04998 | 0.4998] 0.4998 | OL4T30 | 04590
34 O4v8| 0L4998 [ 04599 |03 ] 04999 | 04999 | 04ves]| 04999 | 04999 | 049
3.1 OAYYI | 04979 | 04990 04999 4999 | 04999 | Le399| 04999 | 04599 | 4559
% | DAY 04999 10,4990 | 049%9 | L4999 | 04999 | 04999 04099 | 0.4999 | 04999
19 83000 ! 05000 | 0.3000 | 03006 o.50001 05000 | 080001 95000 | 03000 | 25000
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